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The Pythagorean Theorem and Its Converse

1)

A stereo receiver is in a corner of a 13-foot by 16-foot rectangular room. Speaker wire will
run under a rug, diagonally, to a speaker in the far corner. If 3 feet of slack is required on
each end, how long a piece of wire should be purchased?

A stereo receiver is in a corner of a 10-foot by 15-foot rectangular room. Speaker wire will
run under a rug, diagonally, to a speaker in the far corner. If 4 feet of slack is required on
each end, how long a piece of wire should be purchased?

The base of a 35-foot long guy wire is located 10 feet from the base of the telephone pole
that it is anchoring. How high up the pole does the guy wire reach?

Angelina and Markos are planting a 20-foot by 28-foot rectangular garden, and are laying it
out using string. They would like to know the length of a diagonal to make sure that right
angles are formed. Find the length of a diagonal.

In a right triangle, the sides are consecutive integers. Find them.

Theo determined that the correct length of the hypotenuse of the right triangle in the
accompanying diagram is ~/20. Fiona found the length of the hypotenuse to be 2+5. Is
Fiona's answer also correct? Justify your answer.
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